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; 100kN/m%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mM%# %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 4.75 5920 | NS | 0oo ~ 4751178 9.00 znLs 1.00 | .00 ~ 5.00 59.20 | #nLst | 6.00 ~ 500|178 9.00
2 100kN/mM%#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 6.95 88.04 | Ehds | 0oo ~ 000|174 8.80 znLs 1.00 | .00 ~ 8.60 88.04 | #hs | 5.00 ~ 860 1.74 8.80
3 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 053 10783 |3Im&EBZB| — ~ — — — | 100kN/mi%#BZ5% | 1.00 | 1053 ~ 1200| 107.83 |3mEREZD -~ — — —
Fh s 1.00 | 0.63 ~ 831 100.00 | #hdst | 0.00 ~ 831|220 11.12 Fh s 1.00]5.00 ~ 1053 100.00 | TN | 5.00 ~ 1200 | 2.20 11.12
4 100kN/mM#Z#BZ2% | 1.00 | 000 ~ 032| 10471 |3mEBZB| — ~ — — — | 100kN/mMi%#BZ25 | 1.00 | 1084 ~ 11.70| 104.71 |3mEREZD - ~ — — —
Fh s 1.00 | 032 ~ 810 100.00 | #hst | 000 ~ 810|232 11.71 Fh s 1.00|5.00 ~ 1084 100.00 | =hs | 5,00 ~ 11.70] 2.32 11.71
5 100kN/m#Z#8Z2% | 1.00 | 000 ~ 000| 100.05 |3mEBZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 11.49 ~ 1150| 100.05 |3mEREZD - ~ — — —
Fh s 1.00 | 0.00 ~ 7.79 100.00 | #hdst | 000 ~ 779|242 12.23 Fh s 1.00]5.00 ~ 1149 100.00 | TnLS | 5,00 ~ 1150 | 2.42 12.23
P 100kN/mM%#B% % — -~ - —|3mZzEZB]| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 0.00 ~ 7.13 90.67 | =nLS | 000 ~ 000|168 847 ZnLs 1.00 | .00 ~ 9.20 90.67 | #nLS | 5.00 ~ 920 1.68 8.47
- 100kN/mM%#B% % — -~ - —|3mZzEZB| — ~ — — — | 100kN/mMi%#8 %% — - ~ — —|3mZEBZ B - ~ — — —
znLs 1.00 | 000 ~ 713 90.61 | #hs (000 ~ 713|179 9.04 znLs 1.00 | .00 ~ 9.00 90.61 | =nLs | 5.00 ~ 9.00)1.79 9.04
g 100kN/mM%#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZE#BZ 5 - ~ — — —
znLs 1.00 | 0.00 ~ 7.13 90.66 | =nS 000 ~ 713|178 9.01 znLs 1.00 | .00 ~ 9.00 90.66 | =nLs | 500 ~ 9.00)|1.78 9.01
9 100kN/mM%#B% % — -~ = —|3mZzEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZE#BZ 5 - ~ — — —
znLs 1.00 | 0.00 ~ 7.09 90.07 | s | 0oo ~ 000|177 8.93 znLst 1.00 | .00 ~ 8.90 90.07 | #nLs | 500 ~ 890 )1.77 8.93
10 100kN/mM%Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%#8 %3 — - ~ — —|3mZEBZ B - ~ — — —
ZnLs 1.00 | 0.00 ~ 6.99 88.65 | #nst | 000 ~ 0.00| 1.69 8.6 znLs 1.00 | .00 ~ 8.80 88.65 | #hs | 5.00 ~ 880 | 1.69 8.56
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ Zh s ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZDS ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%Z#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
Zh s ~ ZhLsh ~ Zh s ~ ZhLsh ~
100kN/mM%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImEBZD ~
ZnLs ~ ZThLs ~ ZnLs ~ ZhLsh ~
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